Practice 4
Ex.1. Find the English equivalents.
	1. социальное обеспечение
	

	2. занятость
	

	3. налогообложение
	

	4. слияние компаний
	

	5. Совет министров
	

	6. таможенный союз
	

	7. единый внешний тариф
	

	8. пенсионный возраст
	

	9. принять положение (статью)
	

	10. Суд первой инстанции
	


Ex.2. Translate the sentences into Russian.
	1. The European Union was formed as a result of merging the European Economic Community, the  European Coal and Steel Community, and Euratom in 1967.
	

	2. Decisions in the European Union are taken by unanimity or by qualified majority voting.
	

	3. On the basis of the Customs Union by 1968 all internal import duties were abolished.


	

	4.   The Treaty of Rome called for the free movement of not only goods  and services but also of the factors of production (labour, business capital and enterprise).
	

	5.  Without labour market integration there is a danger that governments will engage in dangerous competition with each other, watering down labour protection laws for example.
	


Ex.3. Translate the sentences into English.
	1. Формирование общего рынка ускорило процесс превращения национальных монополий стран ЕЭС в транснациональные.


	

	2. Страны-члены ЕС составляют единый хозяйственный комплекс, с общим Европейским центральным банком и единой валютой евро.
	

	3. Система Европейского валютного союза позволила создать механизм внешнеполитических консультаций.
	

	4. В соответствии с Маастрихтским договором экономический и валютный союз создавался в три этапа.
	

	5. Европейский Совет принял решение о том, что Австрия, Бельгия, Германия, Ирландия, Испания, Италия, Люксембург, Нидерланды, Португалия, Финляндия и Франция начиная с 2002 года должны перейти на единую валюту.
	


Ex.4. Read the text and complete it using the words from the box.

Labour,   income,    raw materials,    production,   buildings,    tool,    generating

Capital. Assets which are capable of generating ………… and which have themselves been produced. Capital is one of the four factors of ………… , and consists of the machines, plant and ………… that make production possible, but excludes raw materials, land and labour. All capital is itself, however, the product of labour and ………… and can be seen as holding the stored value of them. If a Stone Age man spent one day producing a tool (a capital good) he gained no utility from doing so at the time. He did, however, save labour by using the ………… thereafter. By building the tool he had in effect put some ………… away for use at late date. The essence of capital, therefore, is that it represents deferred consumption. In more general usage, any asset or stock of assets – financial or physical – capable of ………… income.
Ex.5. Correspond the capital with the name of the country.

	1.
	Estonia
	a.
	Madrid

	2.
	Portugal
	b.
	Vienna

	3.
	Belgium
	c.
	Oslo

	4.
	Spain
	d.
	Tallinn

	5.
	The Netherlands
	e.
	Stockholm 

	6. 
	Austria
	f.
	Lisbon

	7. 
	Finland 
	g.
	Copenhagen

	8.
	Norway
	h.
	Brussels

	9.
	Sweden
	i.
	Amsterdam

	10.
	Denmark
	j.
	Helsinki

	
	
	k.
	Warsaw 


